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The following problems are to be completed without the use of a graphing calculator. Be
sure to show enough work so that | can reproduce your results if necessary.

Solve the systems algebraically (elimination). Write your solutions as ordered pairs or ordered
triples.
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4. Find the inverse of each matrix if it exists. If there is no inverse write “singular”.
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answer as an ordered triple. ‘
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6. Use a determinant to find the equation of a line in standard form through the points (— 4, 3), and
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7. Determine if the points A (— 3, —5), B (6, 1), and C (10, 2) are collinear by using a determinant
(circle the appropriate response). If they are not collinear, use the value of your determinant to find

the area of the triangle created by the non-collinear points.
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Part 2 — Graphing Calculator.

The following problems may be compieted with the use of a graphing calculator. Be sure to
show enough work so that | can reproduce your results if necessary.
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3. Find the maximum and minimum values of the function for the polygonal convex set determined
by the given system of inequalities. Be sure to list your vertex points and show that you've tested
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4. Woof, a dog food manufacturer, wants to advertise both in a magazine and on radio. The
magazine charges $100 per ad and requires the purchase of at least three ads. The radio station
charges $200 per commercial minute and requires the purchase of at least 4 minutes. Each
magazine ad reaches 12,000 people while each commercial minute reaches 16,000 people. Woof
can spend at most $1300 on advertising. How many ads and commercial minutes should the
manufacturing company purchase to reach the most people?

x= # of magazine ads y = commercial minutes
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